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ANSWER KEY
1200 1/4
135 miillion years old 230
600 430
16°South of the Equator 10,000+

Number of square kilometres the

e Daintree covers.
The Daintree is the oldest

135 rainforest on Earth but how many
million years old is it?

600 The age a bull kauri tree can be

16° South of the

The longitude of the Daintree is

Equator
1/4 The beetle makes up of all
animals on Earth.
230 The number of species of butterfly
that live in the Daintree.
There are species of
o birds in the Daintree.

10 000+ a Number of species of moths
. there are

aPLA?

© LearnFromPlay | LearnFromPlay.com

.‘= ?1- =":‘. 0 ?:’3{ S*le,ir

LY
£ [ - "
TII&.;:-E"# d [ ) I' »



